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L. The World Health Organization has | 7
declared Africa wild polio-free. The
disease is now found only in which of
the following countries :

(@) Afghanistan and Pakistan

(b)  Afghanistan and Kyrgyzstan

(¢)  Uzbekistan and Pakistan

(d) Kyrgyzstan and Uzbekistan

2. Which of the following statements are
Correct ?

1.  The DNA Technology (Use and | 2-
Application)  Regulation  Bill,
2019 provides for the regulation
of use of DNA technology for
establishing the identity of
certain persons.

2. DNA is made up of 26 pairs of
chromosomes and  provides
instructions for building an entire
organism and proteins.

3. DNA is composed of two chains,
which coil around each other to
form a double helix carrying the
genetic instructions used in the
growth.

4. Under the Bill, DNA profiling
is allowed only in respect of
criminal matters.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only 2 and 3

(¢) Only1and3

(d) 1,2,3and4

Paper | ({A=25)

eSS UHG-was wwferr 7 I
I 1| g it g 3= fore o
fotat mt feg uret it 3

(@) MEITEHIS wiz ufaAs®

(b) nicarStAzS W3 faesfoaAs™®
(c) BRIfarzs w3 ufarss

@ faafomres »E GRafar=s

fors sEst fogt fxggr B 3 2

1 g sadte (@93 w3
fea) JgBms fam, 2019 33
foriastort & Aoz 3 mEus
d95 & Foe.e. 96l d
<93 & JIBHE T T |

2. SIoE. a9Rm ¥ 26 wet @
o I »3 fex-ud e w3
UAs T fsous it gufest
HIEMT g9e7 T |

3. FtnB2 T st St uszg I 3
fex gAY & fem =9t Wy 99
35 fa 59% Ifsam =82 o5 =
&waﬁﬁ%&a@wjﬁ3|

4. oy T oils Jem wugtom
W%ﬁﬁ.ﬁ.?.m
g nirfamr I |

ﬁ»mﬁsrzgeaaﬁnfrﬂﬁf@aag%
(a) o=TH 1 W3 2
(b) =B 2 ¥ 3
() O=HB 173 3

d 1,2,3n3 4

e
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3. Recently, the Union Minige. g
Commerce a?d Industry launched -
National Glf.a-enabled Land Bank
Systen- Which  of the following
statements are correct ahout -
System?

1. 'The platform is created to provide
database of industria]
over South India.

the

clusters

g9 The information available on the
platform  includes information
about  forest, drainage, raw
material heat maps (agriculture,
horticulture, mineral layers) and
multiple layers of connectivity.

3. It will help India in achieving its
target of 5 trillion USD economy
in five years by providing
transparent mechanism of land
identification and procurement.

Select the correct answer using the
code given below :

(a) Only 1and 2
(b) Only 2 and 3
(c) Only1and3
(d 1,2and3

4. Consider the following statements : 4.

1. Pratheeksha is India’s first
Marine Ambulance launched by
Kerala Govt.

2. It aims to save the endangered
Indian Mackerel and Olive Ridley
Turtles from poachers off the
Kerala Coast.

Choose the incorrect statement(s) :
(a) Only1

(b) Only 2

(¢c) Both 1and 2

(d) Neither 1 nor 2

Paper | (4= 31)

g5 &t T feg, =ug w3 GTWd ©
festa®s 83 ¥x fAmen (3HT ¥
ys) 8% fenr I | faus feg for yda
g9 faoz g 7t a5 2

1

f£d ugz® Tust T3 T
BTufox $3f © nigzr nug
YT 96 BET gafen famr I |
fer ues® 3 Qumway mus few
Tg, foadt, a9 v ¥ 37U A
E@Stgst, gast w3 ufEs
ygst) mM3 g3 It gg-udst
o HOET HHS J |

feg ugeeR3T &%, IH HEE3
W3 Yyu3t ygu HJEh
Foe@fent Un At feg 393 §

m%ﬂ%:”mml%g

fal =
HJTIE3T (ddl™ |

faHs A3t § =93fent At €39 T2 -

(a) O=® 1N 2

(b) oA=H 2 M3 3

() d=® 113 3

(d) 1,273 3

foHs FEst § fegg .

1. yf3arT, JA9% o9 »igsg it
st 393z °t ufost miedt
MIRH J |

2. fem v fogar od9® © Ieeast
fewfont feg ¥39d &g e
Fg3t Hads M3 Gfse fagam
I & A3 I95 J |

J%3 IEE T

(a) =& 1

(b) o=H 2

(@ 1n32%eT

(d) 317332
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5.

Paper |

ICMR published

for Gene

“National Guidelines
Therapy
and Clinical Tvrials”.
Which of the following statements are

correct about Gene Therapy Prodyct
(GTP) ?

Product
Development

1. It is defined ag any biological

entity, having the required gene,
that could
modifications in the

therapeutic benefit.

introduce

genome for

2. GTPs work by

repairing,
replacing or

deactivating
dysfunctional disease-causing
genes to restore normal function.

As per the New Drugs and
Clinical Trial Rules (2019), the
GTPs falls under ‘new drug’ and

shall always be deemed as ‘new

drug’.

Thalassemia, Gaucher’s disease,

Sickle cell anaemia and

Haemophilia fall
genetically

under the

inherited disease

category.

Select the correct answer using the
code given below :

(a) Only1and?2
(b) Omnly 2 and 3
(¢) Onlyl,2and3

(d 1,2,3and4

(A-4)

ME R, 3 Sits Bt @
8w feam w3 wefeas ST
BE IHeS et wat &y
CIE L H‘\?;E%'Lﬁqsaz(ﬁﬁlﬁ
S forns sEsr feg vt 9 2

1.

e fefamrss I 3, 7 ofazna
ofee &t fen few gEmm
fonr memer 3§ |

HrAadt. yaeadts st m9s
% st § HIH3, ZEdm A
fafonrdis  aafent, »mi yaran
g HZ HIS F9T J |

fowH?, 2019 wisAg SR
‘<6 3991 © U9 feg mi@e I
AHISYT Arear |

S WS w3 afafenr e
MESHAE  HHST  (inherited

disease) ® feast feg we
Jo |

fsHs a3t § TI3fent At 839 & -

(a)
(b)
(c)
(d)

JTH 1 M3 2
o=® 2 nf3 3
a=H 1,2 73 3
1,2,3 ™3 4
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7.

6.

Paper |

The Prime Minister of Indjg
the mega plan .of “One Sun, QOpe
World, One Grid” Project in the
Independczlflce Day address. Which of
the followmg Statements 5
about the project ?

1 It 15 a transnation
grid  supplying
project.

9. The idea of the Project was first
introduced in 92018 during the

first assembly of International
Solar Alliance,

mentioned

't correct

al electricity
solar power

3. China was the only member
country to resist th
during the ISA meet.

Select the correct answer

code given below :

(a) Only 1and 2

(b) Only 2 and 3

(¢) Only1and3

(d 1,2and3

The Government of India has

constituted National Council for

Transgender Persons. Which of the

following statements are correct about

the Council ?

1. The Council will be headed by the
Union Minister of Social Justice
and Empowerment.

2. The Council is a statutory body

1S proposal

using the

found under Transgender
Persons (Protection of Rights)
Act, 2019.

3. State level and District level
councils for each State will be set
up under this act to address the
grievances of transgenders at
grassroot level.

Select the correct answer using the

code given below :

(a) Only 2 and 3

(b) Only 1 and 2

(¢) Only1and3

(d) 1,2and3 .

(A-5)

W%W%ﬁﬁwﬁﬁeﬂé
Al TR yiae a3 favs fxox ams
AT T8 2

L fwaﬁﬁf‘g‘c‘wmwm

TI5  fenfier

famr J
3. die It fex nifqor Va9 7
AR & nrE AR e, T fuss 39
fer 39dta <t feduzr =gt Ht

() =B 1mM3I 3

d) 1,273 3

e IHedt afR® afes St I | fem

J5 ?

1. AHAR forit w3 wifgergsr &
sedt ¥sdt e s &
MiWSHST J9ar |

2. dfA® caFRsT  fenaSert
(nifusrat & wfimm) Mee, 2019
nits 3T feg et few adat

HISS J |
3. fem nwiae wiils =9mEYsg
foradnt St mifnret

A% FETUZ St Araatnrt |
foHs a3t § Tg3fent At 839 9&
(a) dA=H 2 M3 3
(b) =B 1M 2
(c) o=B 13 3
d 1,2m3 3
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8. The Ministry of Environment, Forest | 8 SSRGE, == w3 sy ufsegss
and Climate Change recently H3T® & SERIE YIT HIas
published the draft Environment (Btnmet 2 ) mfTEgsT, 2020 & S9ee

Impact Assessment (EIA) Notification,
2020. Which of the following

statements are correct about EIA ?

IS T few yafivz dtgr | gt
%H‘Qﬁmaawf‘???r'faa?ﬂﬁ%?

L feg HoTE Gutifum/
1. It predicts the effect of a proposed 5 . 2

industrial/infrastructural project

SISEdE 3 % i
on the environment. Uz =% yser g yge

2. Tt prevents the proposed

: 2. feo fast oy Y=as
activity/project from being i

approved without proper e ey fust HSTE
oversight or taking adverse fefani/iRse S YF'5 JE I Jaer
consequences into account. T
3. It compares various alternatives 3. feg Unde 2 fefds fegmu 3
for a project and seeks to identify 3BERE I nZ €r Unde ot
the one which represents the best Ao 96 ¥ 993 duwr J o
combination of economic and fa wirafas n Trzregfsy S
environmental costs and benefits. w3 mF T B Sg & it
4. As per the new notification, Coal JJeT Ie |

and non-Coal minera.1 pros.pecting 4 = : . S5
and solar photovoltaic projects do PR = g i
not need - prior environmental Bl il i
clearance. (Prospecting) i3 Hawl edemen

Select the correct answer using the Bty |

code given below : s

fors a3t 3 g=fentt AH 839 ge
(a) Only 1 and 2
(a) =B 10T 2

(b) Only 2, 3 and 4 b) I=T 2,313 4

(¢) Only1,2and3 (c) 8@'@51,2191’%3

(d Only1,2and4 d =B 1,203 4

Paper | (A-6)
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Paper |

Recently ‘Pecarbonising Transport in
[ndia’ prO_].ECt was launched by NITI
Aayog  in collaboration with
International Transport Forum (ITF)
I dentify the incorrect statement. |

(@) It aims to develop ga pathway
towards a low carbon transport
system for India.

() The project will design a
tailor-made transport emissions
assessment framework for India.

(¢) India, Azerbaijan, Nigeria and
Morocco are the participants of
the Decarbonising Transport in
Emerging Economies (DTEE).

(d) None of the above

10. The United Nations Environment

Programme and International Energy
Agency jointly released a ‘Cooling
Emissions and Policy Synthesis
Report’” (CEPSR). Which of the
following statements is/are correct
about the report ?

1. It is based on assessment of
development and climate benefits
of efficient and climate-friendly

cooling.

2. It lays out actions that can be
taken to deliver efficient and
climate-friendly cooling for all.

Select the correct answer using the
code given below :

(a) Only1

(b) Only 2

(¢) Both1and2
(d) Neither 1 nor 2

10.

(A-7)

SISt »iiar 3 g F feg wizgIHEST

TIE SIH (e A NE,) T 5% WS X

YHoE M98 dizr | am3 FEs o

HONHS dg |

(@) for = fogsr g9z fog ue
IJEs TS Y§U T g eI
IS T |

b) feg ywde =ost T fosme
UegET © HE®IE © ufenr
uFfen TgT 93 Bt g
FJar |

(c) B3aehhr nrgfgazer feg 393,
nagafeds, &feddmT w3
(Ft.2.eter) ffg mus 9w |

(d) €Iz fe =t a1

AU JHSY <TI<IE Ydd'H ni3
ni33dHSS G EHAt ¥ i@ &
fouge’ (At.gtdtaninmg,) A<t sist
J | fem fouge 59 fons aEst feo
foaaT 7t 305 2

1. feg IA® w3 IIRIE niEaH
Ifea € BTy HS n3 fearn
T HBiaE 3 murfas I |

2. feg Aiiont &Lt IHS ni3 TR
EIAB AfBdl YEIS I96 BT BT
T A%E T8 J9dT 3 TIAQET
ol

(a) Jq=H 1
(b) O=H 2
) 1nM3 2T

(d 1933 2
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11. Which of the following statements are

correct regarding Virtual Water Trade
(VWT) ?

Il

It refers to the import and export
of hidden water in the form of
products such as crop products,
textiles, machinery and livestock

which  require  water for

production.

The concept was introduced by
Tony Allan in 1993 to explain the
import of water intensive
products in arid and semi-arid
regions in the Middle East and
North Africa.

The World Water Council is
headquartered at  Marseille,

France.

Select the correct answer using the

code given below :

(a)
(b)
(c)

(d)

Paper |

Only 1
Only 2
Only 1 and 2

1,2 and 3

(A

11. fovs IEst feg fagsT ‘TIGNS TSI
93’ (t.39f88.2t.) &5 At J?

feg wisfere ust @ v w3
foaas 99 T |

2. feg fegg 2ot niws 3 1993 oo
HO-ygdt w3 €3t nedar ©
H'g W3 »JT Hig u39t feg urat
o weRasT @% S3uet €
g o fenrfimm ®E H
A3 |

3, fepe udt afis T Wy w39

HIA®, e9F feg T |

fors 3T T I3 I9¢ IT AIt €39

=

ge .

(a) =B 1

(b) =S 2

(c) TAB 13 2
d 1,2733

-8)

i
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12. Recently, the
Union Summit wag
virtual medium. Which ik
are correct about the st

1l

th :
15 Indla-Eumpean

helq through a
fo]lowing
?

India-EU Strategic Part
A Roadmap to 2025 Was adopteq

to guide Cooperation between
India and the EU over
five years.

nership :

the next

Adopted declarationg op Resource

Efficiency and Circular Economy.

An agreement between
India-Euratom (European Atomic
Energy Community) on research
and development cooperation in
the peaceful use of nuclear energy

was signed on the eve of the
summit.

An agreement between Europol
and CBI signed to combat
terrorism and organized crime.

Select the correct answer using the
code given below :

(a) Only1and4

(b)

(c)

(d)

Paper |

Only 1 and 3
Only 1, 2 and 3

1,2,3and 4

12. % t fe feadt, grag-gats Haoe
¥ W% (Summit) Tognm HTM
It His T8 | faws feo Fox T9
&0z 85 At 95 ¢

1.

(A-9)

FII-EG. Jxoifsg sl
2025 3% T RET § wiard 5 HHt
SE 393 »3 . ¥ Afog @

HIOIETRS &5t nysfonr
famir |

Hﬁ?e}mm%éfwm
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The Union Cabinet recently approved

< the INew Education Policy (NEP), 2020.

Which of the following statements are
correct about the policy ?

1. Compulsory allocation of 4% of

the GDP in Education sector by
the Union Gowt.

2. Aims to bring the uncovered age

group of 3 — 6 years under school
curriculum.

3. Gross enrolment ratio in Higher
Education to be raised to 509 by
2030.

4. The

policy envisages to set up
Gender Inclusion Fund.

5. The National Educational
Technology Forum (NETF) to be
created to provide a platform for
the free exchange of ideas on use

of technology to enhance
learning.

Select the correct answer using the
code given below -

(a) Only1,2and4
(b) Only1,3and5
(¢c) Only2,3and4

(d) Only2,3,4and5

A -1
Paper | ( o)

> I8 It fem yeors
aﬂ?alf&ﬂ?ﬂﬁsﬁf&ma@%@
St Ht o
1.

- .
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14. Ministry of Earth Sciences (MoES)

released a report titled ‘Assessment of

Climate

Region”

Change over
Which

the
of the

Indian

following

statements are true ?

1

It s a first ever attempt to

document and assess climate

change in different parts of India.

It highlights the observed and

projected changes

In  various

the
Indian region, their impacts and

climatic dimensions over
various policy actions to deal with

the regional climate change.

The Indian Institute of Tropical
Meteorology (IITM) is located at

Coimbatore.

Select the correct answer using the

code given below :

(a)

(b)

(c)

(d)

Paper |

Only 1 and 2

Only 2

Only 1 and 3

1,2 and 3

14. 3 fefomrs Hizgea (H.8EAH.) 3
IS U39 few Ay UfGEI3o
H&aE Hors fouge At &St I |

3.

feg o3 ¢ fefds gai fem
ey Ufdedss g9 Buz i3

HBAE T g% 39 © ufgs w3s
ol

ufgeszat, gt ¥ nime n3 few
y3dt %y Ufge9ss
T-TAST MBAT B33 TSt
$ Bs9er J |

I3 T ZToUute®m Hieawmdar ot
HAgr (gt et S nt.)

Sfenaes few maTfus 3 |

fows aat 3 =93fent sl 839 & -

(a)

(b)

(c)

(d)

(A=11)

% 1 m3 2
AT 2
aTHB 1 M3 3

1,2 "= 3
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The Aumdited ' Social . Healiy |G o SR M etfeey
il Activists (ASHASs), a community-based HH®
Act1vists 4 3

: (T PH T D _ i
functionary under National Rural %%.E.aﬁ.}, JHedt y3g 1RES
Health Mission (NRHM), have been e HE

MBI AT AN, it
ASS 5, feim 39 3 Sfes-19 o9

supporting delivery of health care
services to the last mile, especially

during  COVID-19. Which of the MRt B 33 ugee wet Fofear
following are the primary duties of 9T IJ I§ | et feg faaStort nimr
r) N : y i1 -
ASHAs ? EaaaT@wn}:raﬁ_m%ﬂ toets
1. It counsels women on birth L &g #ow & st medt,
preparedness, importance of safe M= #5s o yize. o3
delivery, breastfeeding  and % o Aot , o
complementary feeding, 3 e % S
immunization, contraception and 2 & "3
prevention of common infections. EECARE T JorEm mfeh KEEY
i b & fee 75 |
5 HA takes steps to create 5 ~ fr 2
awareness and provide 2 ; :E Bé:r- ARSI ]
information to the community on I3 2 395 fie fx UHE 1T,
determinants of health such as gfont regzr, g yEe
nutrition, basic sanitation and HYST UTs 996 BTl SeH gat
hygienic practices. ol
3. It works with the Village Health 3. feo filz & fmoz & ferfzs
and Sanitation Committee of the e feafAz aos  met AIH
Gram Panchayat to develop a ofes @ U o3 m3 meagr
comprehensive village health A S
en IHST &% A F9ET T |
) ' - 4. N EC O iR vR3, gy
= ASHAf Provides a?;::;fz 2:;1: c:S 8 WM B wud ofdsE
care for minor ai s
diarrhea, fevers, and first aid for AoTfEsT fddt 9 |
minor injuries. foHs a3t & =93 Fefont Ft 839
Select the correct answer using the e :
code given below : (2) o= 1,2 73 3
d3
(a) Only1,2an (b) =% 2,33 4
2,3 and 4
(b) Only 2, (c) =B 1,313 4
1,3 and 4
(¢) Onlyl, @@ 1,2,3n34
(d) 1,2,3and4
Paper | W12y
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16. The Government of Indza announced 18. 393 IS % méh_[ Hﬁ 5
linking of Lakshadweep Islangg vy

ndtas fens dus fég adt HY
the mainland through Optica) gy, TSEt 5 FEw wet e ater Y |
Cable link.

fors fed* faoa wus vt 3o ?
Which of the following statements

is/are true ?

L &t @ 11 witfont &, mifes
fBsft nudtas ofeas aus

1. The submarine optical fibre cable 3 3

link will connect 11 islands of bk i i

Lakshadweep with Kochi in feur w3t |

mainland India.

2. feo  ywae dafaR  fedt

2. The project will be executed in feg HAH AR A, w3

PPP mode through a joint WIHELANS, ¥ Hgas nifenrs
venture of BSNL and RIL.

(@ Only1l
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18.

Paper |

17, India’s first gas exf'.h'dﬂg& the Indian | 17,
" Gas Exchange (IGX), was launched. as

a: wholly owned subsidiary of Indian

Energy Exchange. Which of the

following statements are correct 9

1. It is a digital trading platform
that will allow buyers and sellers
to trade both in the spot market
and in the forward market for
imported natura] gas.

2. It will allow trade across three
hubsie=— Dahej and Hazira in
Gujarat anqg Kakinada in Andhra
Pradesh.

3. Imported Liquified Natural Gas
(LNG) will be regassified and sold
to buyers through the exchange,
removing the requirement for

uyers and sellers to find each
other.

4. Only inter-governmental trade in
donnesﬁcaﬂy' produced natural
g8as is allowed at the gas
exchange,

Select the correct answer using the

code given below -

(@) Only1and?2

(b) Only1and3

(c) Only 1,2 and 3

(d) 1,2,3and4

Consider the following statements :

1.  Angola and Nigeria are one of the | 18.
largest crude oil suppliers of the
sub-Saharan region.

2. India and Angola signed g
bilatera] €nergy  cooperation

agreement under the framework
of India-Africa Forum.

Which among the above statements

is/are incorrect ?

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

(A-14)

- |B:i| (_W.T"ﬂ')’?[ﬁﬁ)’ CARED @G?F
mﬁﬁ% RETHET =y
ap2 a-l-e’-]. o
Rt & 9 lmﬁg?ﬁwm
s e e
; mﬁ?%|
0 WY FTY gy
‘ THETET e
riamr fder § | U9 &t
3. ]’)ﬂ‘ﬂ']g Bﬁ‘:ﬁ’
(NS ) ?E eSS an

(a) =% 1w 9

(b) I=H1n3 3

(c) o= 1,2 m3 3

@ 1,2,3n3 4

ﬁm?;aaargf‘e@—ar

L ﬁw@m@l—w
39 Y A ¥ W o 3 3
YESIESRT  (AUSTegE)  feg
MET I3 |

2. FT3 NS NidF 3 I3 medta
é‘ﬂ[%%ﬁ?’ﬂﬂ?@ﬁbﬁ@w
Frf‘trﬁarﬂﬁ%%ﬁmaﬁ;

83 a5 fov fausr suw aws /05 ¢

(a) oA=H 1

(b) IA=H 2

() 1wnw3 28
(d & 1m3 & 2
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0 Recently, Pan-India Reg] Time Market

(d 1,2and 3
20. National Commodity and Derivatives 20.
Exchange (NCDEX) announced the
commencement of trading in the
country’s first agriculture futures
index called :
(a) AGRODEX
(b) AGRIDEX
(¢c) FARMDEX
(d) CROPDEX
- 15
Paper| (A )

in electricity was launcheq o
the following statements are correct
about the mar ket ?

1. Real time market is ap organized
market platform enabling buyers
and sellers to meet their energy

requirement closer to real time
operation.

9. The auctions will be held 50
times a day.

3. It became operational on two

platforms Indian

(IEX) and Power
Exchange India Limited (PXIL).

Energy
Exchange

Select the correct answer using the
code given below :

(a) Only 1and 2
(b) Only 2 and 3

(¢) Only1and3

19. 7% F ot feg mge_gagt

e WSt 7t it aret o

IES

%@%ﬂ?&ﬂﬁ}@}wgﬁm 2

1

mmnﬁmm@
0938 3 7 ydwewt w3
¥ aHE udnit 395 < maesT
9T J |

fex fes few 50 =9 fomni

JfenT Igsatmt |

fgg T Ud3® 3 Hoi®3 dfenf .
(et oler,) w3 3Est
i) WIASH fafies
(JF IR AET . |

foHs a3t § =93fent st €39 T2

(a)
(b)
(c)
(d)

=% 1 M3 2
=% 2 M3 3
aT® 173 3
1,2 73 3

3AE® qHfEct M3 SdlRfer MiaHYH
(e A EEMIA.) & I3 € ufad
y3taEt namdt FeR few =uw &t
ndg3T mwet 3, TR 8 feg faar mfer

q

(a)
(b)
(c)
(d)

MII3AH (AGRODEX)
maatsaH (AGRIDEX)
T9H3aH (FARMDEX)
FIusaHA (CROPDEX)
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21. Consider the following statements :

oiils F r'a
1.  FEzulwini consensus calls fo !

= Ll 11
more democratic security L?unct
with a permanent seat to Egypl,
Turkey and South Africa.

2. During the recent India—AU
Summit, Uniting for Consensus
grouping (UfC) strongly
supported India’s to a
permanent seat in the UNSC.

claim

Choose the correct statement(s) :
(a) Only1

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2

22. India recently announced a second
phase of Cotton Technical Assistance
Programme for African countries.
Choose the correct statements among
the following :

1. The grouping of Mali, Benin,
Burkina Faso and Chad is
popularly called Cotton-4.

2. Cotton crop is best
commercially in  Red
Lateritic soils in India,

grown
and

3. The Cotton Corporation of India
Ltd. releases MSP for Fair
Average Quality grade Kapas
before the start of procurement
season.

(a) Only1

(b) Only1and 3
(¢) Only2and3
(d 1,2and3

Paper |

22.

(A-16)

BIftmr Jfirs & nierg ffer T |

< Wﬁf@ewm-éﬂgﬁm
(Summit) 95, gafeféanr g
IEHAR  argfifar (@) 3
393 T g AL feg melE
HEAUST € 8T § UIrd AHIES
fesr |

Adt J9a g3 .
(a) Fq=E® 1
(b) =W 2

() 1w3 2
(d s 1n3 a9

893 & niEdlar ¥ TR BE U @
3BTt ATTEST Yoy ¥ TRS 99 @
U%Waﬂ?ﬁlfmmﬁvﬂﬁm
ge

1. Hﬁ%ﬁrﬁa—crl“a?;ramhﬁaa
v AHT 3 BT =% a5 4

(Cotton-4) foqar sier I |

2. I93 o8 % w3 Befafex
THis feg sug & eFm ot
YIS 39 3 B3 Garet It T |

3. udte & mgM3 3 ufow des
JIUIHS e fEshr  fwnfes
B NI NAZS Inrfeet gF @
g & MHAHEAT. § At ot

Aer J |
(a) odA=H 1
(b) =B 13 3
() JA=TH 23 3
(d 1,203 3
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24.

Paper |

The All India Trade Union Congress

AITUL the first pan-India trade
o rgcently completed 100 years.

Who among the followmg contributed
to the formation of AITUC.

1. Lala Lajpat Rai

9. Bal Gangadhar Tilak
3. Joseph Baptista

4. N.M. Joshi

5. Diwan Chaman Lall
Choose the correct code :
(a) Onlyl,4and5

(b) Only 1, 3 and 4

(¢) Only1,3,4and5

d 1,2,3,4and5

The International Maritime
Organisation (IMO) has recently
recognized Indian Regional Navigation
Satellite System (IRNSS) as a part
of World Wide Radio Navigation
System (WWRNS). Choose the correct
statement(s) among the following :

1. India has become the fourth
country in the world to have its
independent navigation satellite
system recognized by IMO.

2. IRNSS provides both Standard
Positioning Service (SPS) and
Restricted Service (RS).

3. IRNSS, like GLONASS and GPS
is a global navigation system.

(a) Only1

(b) Only 1 and 2
(¢) Only2and3
(d) Only 1,2 and 3

24.

(A-17)

d 1,2,3,4M35

ni3g-ITHEST Hatetfey HIG6

mMEtmN ) ¥ T® feg & et

uy3dt 3<ms Gugfac  ydg

(MEL e MEMAMR,) 3 feHst
3516 3<tdHE ydg
(3R sl mantsmr.) & fom

T At =T T | fons feg Aot

ﬁ%npﬁﬂw% Wﬂé}ﬁa
:ES

(a) =% 1

(b) A=H 1 W3 2
(c) o=H 2 N3 3
(d) =B 1,23 3
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26.

Paper |

The Bureau of Indian Standards ]t*l]j‘:z
Prepared a draft standard for 5
supply of piped drinking water, “31111_t :
as “Drinking Water Supply Quali }.
Management System-requirementsi ‘fO“I
piped drinking water supply service”.
Which of the following statements are
the key features of the draft ?

1. After treatment the drinking
water should conform to Indian
Standard (IS) 10500.

2. Adoption of District Metering
Area concept to control leakages.

3. Water audit should be conducted
on quarterly basis.

25.

Select the correct answer using the
code given below :

(a) Only1and?2

(b) Only 2 and 3

(c) Only1lands

(d) 1,2and3

Winter Diesel is g specialized fuel
that was introduced by Indian 0i]
Corporation. Choose the incorrect
statement about Winter Diesel :

(a) Tt contains additives to maintain
lower viscosity so that it can be

used in temperatures as low as
— 30°C.

(b) It has lower cetane rating for
high performance of engines,

(¢ It has low Sulphur content to
ensure lesser deposition
engines.

(d) It is highly suitable for high
altitude ang low-temperature
regions such as Ladakh, where
ordinary diege] can
unusable,

in

become

(A-18)

25.

26.

83 nre foshs meges 3 tte =3
wéfre%urfeuam’fnm@ﬁuam
VT T udt & ufew mumEt e
Sz =5 udR @ usE o

My gt |

8. U ¥ ¥y fadhiz a9 ot 3
IIET Tt I |

(a) JTH 1 NI 9

(b) = 2 w3 3

() I=TB 133

d 1,2m33

(b)

(e)

(d)
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- HydropoWer Sector cooperation is the | 27. UE favd Aiothr saz-gers & & W

flagship area of Indo-Bhutan bilateral
relations: Choose the correct
statement(s) among the following with
regard tO India’s investment in the
hydropower sector in Bhutan :

1. The Mangdechhu hydroelectric
project 1S a run-of-river power
plant being built with Indian
assistance in central Bhutan.

2. The Kholongchu project is a first

Indo-Bhutan joint venture

hydroelectric  project to be

implemented by Kholongchu
Hydro Energy Limited.

3. The Chukha HEP, Kurichhu HEP
and Tala HEP are the
hydroelectric projects of Bilateral
Cooperation between India and
Bhutan.

(a) Only1l

(b) Only 1 and 2
(¢ Only1and3
(d 1,2and3

98. Consider the following statements 28.

regarding ‘One Nation, One Ration
Card’ scheme.

1. The scheme allows portability of
food security benefits for migrant
workers in other States.

9. Aadhar linkage of ration cards
of migrant workers is not
mandatory for availing benefits
in other States.

Which of the above statements is/are

correct ?

(a) Only1

(b) . Only 2

(c) Both1land2

(d) Neither 1 nor 2

Paper | (A-19)

HEDT T MY BS§ 3 | 393 e
g6 © UT famet yzg fog fosm =9
faoz g8 At I% -

1. HaEe vz faasdt yiae, efanret

FImi 3 wfenr Qewr usE I W
dedt g2 feg g9z & Hofes
&% gErfent w faar I )

9. UBsdg Unde I3 N3 TS T

ufgst Huas nifswms = Uz

3. oo meEaf., &g MY Ea.
»E I MEEA. IES 03
gos ¥ € wft Afoudr € uE
famdt yvae 76 |

(a) =81

(b) o=H 13 2
(¢c) J=® 1 M3 3
@ 1,233

Hedt fors sEe g feord |

1. feg ufstme TS @ feg oM
poftmr ®E ¥ 3UES
(ug2fafedt) & nifomr e 9 |

9. I3 I femw ®S § YuS A6
Tt USTTHT HrEd € IHG J1IS
o oWMTE 3% TIQ BHHT &dl
J |

B3 FEs fog fxagr At 3/95 ?

b=

(a) o=<® 1
(b) O=H 2
© 19328

@ w13 2
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29. Consider the following statements :

1. A permanent bridge has b;?en
built on River Ravi for connecting
Kasowal enclave in Punjab along
the India-Pakistan border with
the rest of the country.

2. This 484-meter long bridge has
been built by Border Roads
Organisation (BRO) under the
Project Chetak.

Which of the above statements is/are

29. fors FEst 3 feue !

1. FaSt-ufgAzs HHT € 579 Sdet
IF T I Ags HEt I o 3
fea AT e gafenr famr 3 |
(Ffnra.6.) worar I3A Ynae
nidls feg 484 Wew P US
gEfent famr T

83 feu" fagz aws At 3/as ?

correct ?
(a) Only1 (a) e 1
(b) Only 2 (b) o=® 2

(¢) Both1and?2
(d) Neither 1 nor 2

30. Consider the following statements
regarding  Styrene gas leakage
from LG Polymers Plant in
Vishakhapatnam, Andhra Pradesh :

1. Styrene gas that is used in the
production of polystyrene plastics

and resins is normally stored as
liquid in factories.

2. Short exposure to Styrene gas
results in irritation of mucous

30.

() 1wm3 2 a
d s1mM3 5 2

fermauesy, witgr yen @ we.

USher usie feg' medldls I 2

fors Ryt fors sgs fegma -

1. FAcEEs AR § UdHEestds
w&am%%rﬂw@w@&mﬂ
fers I 3 wmy 39 3
Sacdnit few 39% = HET At
T T

2. FACEdls dH ¥ g3foy AoMR

membrane and eye, ) A
gastrointestinal  effects  and 5% OH HESs i3 nit feg
inhalation problems and long yTfan, Ue < UTTH T Yyse, A d

term exposure to the gas causes
damage to central nervous
system and fatality as well.

Which of the statements given above
is/are correct ?

(a) Only1

(b) Only 2

(c) Both1and?2
(d) Neither 1 nor 2

&% Jedt 39EH YT T maAs
™3 7S U39 feg o gt 3 |
83 sus’ feu fausr qus wt J/as ¢

(a) oAH 1
(b) o=H 2
() 1wz 2e=
(d) 3 1n3 32

Paperl (A—ZO)
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31.

Paper |

JIGYASA pProgramme of Council of
geientific  and  Industrial Research
(CSIR) is a/an

(a) National Programme to provide
Mentorship  and Scholarship
support to interested students for
pursuing study in Basic Sciences.
Student-Scientist connect
programme wherein students
across the country are exposed to
science and technology.

(b)

Innovative programme to attract
young talent to the study of
science at an early age and to
build the required critical human
resource pool for strengthening
and expanding the Science and
Technology system and R & D
base.

(c)

New programme aimed to foster
scientific research on the effects
of yoga and meditation on
physical and mental health in
healthy people as well as in
patients with disorders.

Consider the following statements :

1. ‘Ajj Aakhaan Waris Shah Nu’
(Today I Invoke Waris Shah) is a
famous poem by the renowned
Punjabi writer Amrita Pritam
about the horrors of the partition
of the Punjab during the
Partition of India in 1947.

2. The poem is addressed to the
historic Punjabi poet ‘Waris
Shah’ who is considered as
‘Shakespeare of Punjab’ for his
literary work ‘Heer Ranjha’.

Which of the above statements is/are

correct ?

(a)

(b)

(c)

(d)

Only 1

Only 2

Both 1 and 2
Neither 1 nor 2

31.

32.

Ifte 3 gogHEr &
AJTTEST T ITHZSY YaiaH J |
fefenraet-fefamran . & 738
T Y@eH g @5 39 feu
fefonragtert = fefomrs w3
IASTHHT BF ATHE IgSTeEnT
Aer 3

Hedl BHa feg Jeo9 &dest &

(c)

q965 BT FItT HHT AT T
feans &t feo  &<te3dr
gy J |

Gar 3 fours T fHosHe &a

(d)

RS far qier 3 |
83 feu fauz™ w55 7t J/as 2
(a) A=H 1
(b) o=TH 2
) 173 2%

(d) & 13 & 2
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33.

Consider the following statements :

1. World Bank allocates votes for
member countries on the basis of
the share of bank’s capital stock
held by the member country.
India currently holds more than
5% of the voting power in the

2. 393 ¥ fepe ¥ o9 AHT®
feg 5% 3 frmirer @2 AEST T |
World Bank. OH i
Choose the incorrect statement(s) : di®%3 Jdg8 9T
(2) Only 1 (a) d=B 1
(b) Only 2 (b) o=TH 2
(c) Both 1and 2 () 1nw32ex
(d) Neither 1 nor 2 . (d) rspial m%’ 5T 2
34.  Which of the statements given below is 7
correct ? 34. foHs qust fog' fagz 7t 3 ¢
(a) The Attorney General of India is (a) FII T wEHE HEI® HET o
entitled to all the privileges that AERT 3§ fims =@t Agtogt
are available to a Member of = 3
Parliament, gfeurst et ursg l
(b) The Attorney General of India is (b) NTTE FEI® =St yiHe =
a member of the Cabinet. AEAW Jer J |
(¢) The Attorney General of India is (©) "T9Et w&d® & 393 T e
appointed by the Chief Justice of b
Toiia Hrfen fogas aa? J | 3
(d) He must be a person who is @) fev 89 fodt = o ‘_jIEL% H
qualified to be appointed as TE d9e T 7y fogas d= @
Judge of a High Court, Gar 92 |
35. Consider the following statements - N 1
1. The Sixth Schedule has conferred | 35- 6HE Ea [} EEIEE
the District Councils the power to 1. 2F WESHYT ﬁw}'r IfAmt &
constitute Village Councils or EATES afifn 2 B VHQIST
courts for the trial of cages .‘ iﬁ ?‘ﬁ : 3 3
between persons belonging to S e L] =t Tl B
Scheduled Tribes. AT i MEBIT T IES TI5
2. The Sixth Schedule hag B niffes et 3 |
recognised the power of the 2. & wisESt fymr st & o3
District  Councils tq impose T aq =m3“m et
certain specified taxes. T : o ﬂ. 3 il ?
Which of the statements given above e I
is/are correct ? 83 Fust fo faaar 7Rt /s 9
(a) Only1 (a) =% 1
(b) Only 2 (b) ITH 2
(c) Both1and2 © 1032
(d) Neither 1 nor 2 (d sT1nIarg
Paper | (A-22)

i
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36 Consider the following statementg -

1. Matters concerning Trade
Unions, industria] and labour

disputes fall within the purview
of Concurrent list.

2. The subject of welfare of labour
including  conditions of work,
provident fund, workmen’s
compensation and maternity

benefits are included in the State
list.

Which of the above statements is/are
correct ?

(a) Only1

(b) Only 2

(¢) Both 1and 2
(d) Neither 1 nor 2

37.
37. Consider the following statements :

1. With respect to the ordinary Bills
passed by the State Legislature,
the Governor is vested with a
discretionary power either to
withhold his/her assent or return
the Bill for reconsideration by the
State Legislature.

2. If a Bill passed by the State
Legislature is derogatory to the
powers of the High Court, it is
compulsory for the Governor to
return the Bill._

Which of the above statements is/are

correct ?

(a) Only 1

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2 .

Paper | . (A-23)

mm%wéf@ﬁa;ﬁﬂﬁ
feo AH® I3 |

B3 feu fooz™ 3us wdt J/as 9

(a) =TS 1

(b) dA=H 2

() 1m3 28

(d) & 193 &2

fans sEst & fegrs -

L. 9W feUsad’  (Legislature)

(a)
(b)
(c)
(d)

THUS IB nust "Afonst 55 &
JUT A I feursargt worar fam
HZ feues AEdt s =um a9s
<t feufsnrdt Fost dge 3

a9 I fegsargt (Legislature)
NTT TEGTe Tt Fashe o

Scanned with CamScanner



38. As per the Scheduled Tribes and

39.

40.

Paper |

Other Traditional Forest Dwellers
(Recognition of Forest Rights) f%t’
2006, who has the authority to initiate
the process for determining the n‘cltu_l'e
and extent of individual or family
rights ?

(a) State Tribal Department

(b) Gram Sabha

(c) Block Development Officer

(d) Gram Panchayat

Which of the following is not a
provision of the Representation of the
People Act, 1950 ?

(a) Qualifications and
disqualifications for membership
of Parliament and State
Legislatures

Allocation of seats in the House of
the People, the State Legislative
Assemblies and the State
Legislative Councils

Delimitation of Parliamentary,
Assembly Constituencies
Local authorities for purposes of

elections to the State Legislative
Councils

(b)

(c)

(d)

Which of the following categories of
borrowers are eligible for taking the
benefit of Priority Sector Lending
under the Weaker Sections Category ?

1. Small and Marginal Farmers

2.  Self-Help Groups

3. Beneficiaries of Differential Rate
of Interest (DRI) scheme

4. Distressed farmers indebted to
non-institutional lenders

5. Minority Communities as notified

Select the correct answer from the
choices below :

(a) Only 1 and 2

(b) Only1,2and3
(c) Only2, 3and5
d 1,2 3 4and5

39.

40.

(A-24)

I+ FHi® fegmdr

I AT
(c) IBA fea™d MeHd
@ dIH uTEs

fos feg foazr & ?Ofa yStfeus
e, 1950 T Y=US 39t d 7

(a)
(b)

() HAE w3 I feoeAs=
Fegfy &t Gz N3
S

(b) B HI, I feus AIT M3
yfere €t Atet T fsguras

(¢ FRE w3 9w feus AIT <
ISfot & Je gt

(d) Iv feus ufge Tt I ©
BTH ¥ masa nifuardtars

fes" yafim 839 ¢ Bug (uafegd
Ao &fsa) @ Feaat feg AT
I »itits 93 usesT Tuw g 9
1. 83 IHROS faas

2. FA-AUEST gy

(a)
(b) =TT 1,23 3
(c) 5@82,37&@5
d 1,2,3,47n3 5

'
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41.

42.

43.

which out of the following gets of
industries 1S not a part of the eight
core industries in India ?

(a) Coal, crude oil and naturg] gas

(b) Steel, cement and electricity

(¢) Coal, natural gas ang refinery
products

(d)

Mining, metallurgical operations
and pharmaceuticals

Which out of the following has
been categorised as a Domestic
Systematically Important Bank

(D-SIB) as per the recent report the
RBI?

(a) ICICI Bank

(b) Punjab National Bank
(¢) Axis Bank

(d) Kotak Mahindra Bank

Which among the following is incorrect
with respect to Payment Banks and
Small Finance Banks in India ?

(a) Payments Banks can accept
deposits but have to keep the
customer balance below one lakh
rupees, whereas there is no such
restriction on the Small Finance

Banks.

(b) Payments Banks cannot give
loans or issue credit cards
whereas Small Finance Banks
can.

(c) Mobile Companies and

Supermarket Chains owned and
controlled by residents are
allowed to become eligible
promoters for Payments Banks
but this is not true for Small

Finance Banks.

(d) Payments Banks cannot sell
mutual funds, insurance‘ and
pension funds but Small Finance
Banks can.

Paper |
h—___

41.

42.

éﬁ(_core'}@?ﬁl‘dﬁ?w?ﬁ;m?

(a) QWQET%EHBB_@G?T%H

(b) FH®, Aifiie m3 faast

() I®, IEIST AN n3 Hefesd
83uw

T gEBE ¥ Qudar

fons e fam ¢ nra.dtoret. &t o
g few wrEt foude nigAe wIm
YEUHIS HJ32UTS ¥
@Ft.-nAnretdt.) =9 T9difgz oS

-~

J7?

(d)

(a) WAL e,
(b) Y 3HG® ¥
(¢) WAfHT ¥
(d) dex Hidedr &x

43. 93 feu® wefedt ¥at w3 wisy
&3t ¥ g9 fons feg' &t a3 T 2
(a) wiefedt ¥ Ay I & Aoe I6

(A-25)

ud 83" § grox & garfenr few
wau%a*wzwa%ava?%r
mey RF §F 3 wifedt et
TSt &dt 9 |

EfEdt ¥ J9nT B9 © AT A7
Afde I98 & © Aaw AT
n®y @3 89 & AgE 95 |

g6 © U4l 96 U9 miey =5t ¥
et feg At & T |
neTfedt &) fHews
n@ﬁmwgﬁ
udz ney fSt
IS |

(b)

(c)

(d) é"aﬁ T
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44.

45.

3. Loss assets

Consider the following pairings of
Non-Performing Assets (N Pf_\)
classification in India with their
descriptions :

1. Substandard assets Assets
which have remained NPAs for a
period less than or equal to
12 months.

2. Doubtful assets Assets

which have remained in the
substandard category for a period
of 12 months.

: Assets which are
considered uncollectible and of
such little value that their
continuance as a bankable asset
is not warranted, although there
may be some salvage or recovery
value.

Which out of the above pairings are
correct ?

(a)
(b)
(c)
(d)
Which among the following is the

Only 1 and 2
Only 2 and 3
Only 1 and 3
1, 2 and 3

objective of the Cheque Truncation
System (CTS) introduced by the RBI ?
(a) To reduce the flow of cheques in

(b) To

(¢)

(d)

Paper |

circulation by replacing cheques
with digital financial
transactions.

discontinue the flow of
physical cheques in the clearing
process by transferring an
electronic image of the cheque
with essential MICR data.

To establish an electronic
database that helps in the
suspension of the circulation of
those cheques that do not have
the correct vital details,

To build capacity to enable
interbank payments online and
facilitate Corporate customer

payments.

(A-26)

44. T3 feg Ag-yeana SHE (MBULR))

45.

F%H?Sﬁefé%?e’a’wﬂ[i}a‘
fegs : A
1. »®y Yug © ®He . 87 THE §

12 HAB 7t 8F 3 We AH T
MAUtE. 99 9= |

Heouds &Hz : o RS 12 HJy
e niwy g =g o9 99 = |
W ¥ He : B9 THE §
GarargE G &t ga w3 ST we
&HI T T5 fx SIAGA THS ¥
39 I &IF o8 7 AAE I (Bt
&t a5 Garerdt vz I AT |

8z et foiF faga At 3 7

(a)
(b)
(c)
(d)

adT® 1 m3 2
3B 2 M3 3
=% 1 3 3
1,2 ™3 3

foHs feg" nirg.Storet. enmar fenie
T A ZdaaHE y§y (L., @
e ot I ?

(a)

(b)

(¢)

(d)

T &t g faries &3 3ges
fenm q gat T W€ & ge39
WeTgET |

FE:’Eﬁ' fHag (MICR) 9T T gt

WH 0,
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46. Which out of the following s the | 46. foHe o5 39z & gmedt nrfedt

Jargest l?:‘t:vorg] of shared ATMs in IIUIHE Tnfrgr gHtenT Jier Ig3 T

g)i;:or;tmn )(?f IngxfI ‘;i e mets Eﬂjﬂ? B

(a) National Financial System (a) Hfﬂ??ﬂ &3t ysig

(b) National Financial Switch (b) Imedt 5 Afeg

(¢c) National Electronic Financial (c) THCS fedaeafoa &t yga
System (d) It nerfeet ydu

(d) National Payment System
47. 393 few gomr Ifdar EHHM fons

47, Credit Rating Agencies in India are

( lated) I8 ?
regulated by which of the following regna '3“) gl
entities ? (a) Befod HH® H3T&H

(b) f&3 H3T®w

(c) WG 3 nigHEH I8 wie
féstr (SEBI)

(d) 3=t fogde 8

(a) Ministry of Corporate Affairs
(b) Ministry of Finance

(c) Securities and Exchange Board of

India (SEBI)

(d) Reserve Bank of India 48. Ftnf3.Et St A, (TReDS) € Heu feg

fores gt feg' faozT ams T ¢
48. Which of the following statements is @ fom & e ww fodes

incorrect with respect to TReDS ? |3F|a'§ féar yda J |

(a) It stands for Trade Related (b) feT 3793 © foqe= & = Quaws
Discounting System. J |

(b) It is an initiative of the Reserve (¢ fem = fomma Qﬁ et GEFELES
Bank of India. nf3 8¢, 82, WuH Eeauaferm

(¢c) Its aim is to help cash-starved (ﬁﬁ.ﬁﬁ.%,é’r.ﬁ,) ?5
micro, small and medium JHRE®T € A% miefEdt feg
enterprises (MSMEs) promptly HEE SJ8T J |
encash receivables. @ feo fea ne-mets i

(d) It is an online bill discounting %ﬂa'rgﬁ'm TI3® aF +
platform that enables discounting AEPNLE. feadset o o3
of invoices/bills of exchanges of Betar fam few HIadt nwEw
MSME sellers against large S 95 (AREAE.) Tws

corporates, including Government

departments and PSEs through gﬁ e ﬂa:q@?r "3 %WSCW%—
an auction mechanism at |‘3Fla'§:__|"zal | ?3" TH
competitive market rates. Hafae I2t 3 Saeger T |

Paper | (A-27)
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49. Start-ups

50.

a0.

Subsidiary  Status’ and ‘Usual
Principal and Subsidiary Status’
approaches are wused in the
measurement of
(a) GDP
(b) Unemployment
(¢) Inflation
(d) Services Sector Growth Rate

Paper | (A-28)

registered with  the
Department of Industrial Policy and
Promotion of the Government of India
are exempted from the payment of the

“Angel Tax” with conditions. This tax
refers to

(a) Tax payable on capital raised by
new listed start-up companies via
issuuance of shares where the
share price is seen in excess of
fair market value of shares sold.

The tax that start-ups were
supposed to pay if they receive a
loan at a discounted rate of

interest because of higher success
ratio.

(¢c) Tax payable on capital raised by
unlisted companies via issuance
of shares where the share price is
seen in excess of fair market
value of shares sold.

The tax that start-ups were
supposed to pay when their
annual income would cross the
specified threshold as per their
fair market valuation.

‘Usual Principal Status’, ‘Usual

49. 93 FIwT & Getw A S Uy

fesar & dfimes oot am
Bt (Fege-nu) § IF Hew
nls “Twe a9” o nefed 3 g
J | 57 a9 Has s9er I

(a) &Mt foRfes UM T
It 3 Ve =9 § e AvE &
i3 I9 aT An@ © AT EEy
SHZ 5% g TuE § fHeEt 9 |
H d9 A9e-mut § €T HIEr
AA3 fewms €9 3 9T YUz
9T TG |
wEfeAfes Ut enraT At
3 UTr 9 7 fAg e ©F
¢ J® Ani@ ©F At 8AY oW
&% 20 TuE ¢ fhmet 3
ACHE MY B9 SEUdl &9 A
B3t & AEET mines 1St @ FRt
H&aS neAT ferr fogufes
HHT 3° ®w Hiet I |

w3 REfAsdt medH fordhrt fam @

(b)

(c)

(d)

niigwe feg =335 Jieit I |
(a) 3Tt

(b) HgHaTSt

(c) Hfdamet

(d) FAe= 839 € W & T9
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52.

Paper |

51, India has been constant]y negotiating

for an c?cpansion in the trade in
cervices via Mode 4 as defineq under
the General Agreement on Trade in
Services (GATS ). Consider the
following PaIrings regarding different
modes of Services under GATS of the
WTO :

1. Mode 1 : Cross-Border Supply of
Services

2. Mode 2 : Temporary cross-border
movement of a natural person to
consume services abroad

3. Mode 3 : Cross-border provision
of services via the commercial

presence of a company in another
country

4. Mode 4 : Temporary cross-border
movement of service providers

Which of the above are correctly
paired ?

(a) Only 1 and 4
(b) Only 2 and 3
(¢) Only1,3and4
(d) All of the above

Which among the following are sources
of non-tax revenue receipts for the
Union Government ?

1. Disinvestment Receipts
2.  Spectrum Fees

3. Dividends from Public Sector
Undertakings

4. Interest Received on Loans given
by the Government

Choose the correct answer from the
choices given below :

(@) Only 3 and 4
(b) Only 3

(¢) Only 2, 3 and 4
(d All of the above

51.

52.

(A-29)

I3 HS 4 Tt Fer 3 =urg (233 85
rofers) fam & @2 AR ot
ufasTie 3T famr 3. 3 fepzg mt
BISY  HIW g fggr 3|

SEERAE. T HE2AM. wds
] ﬁ?@f%fiﬁxﬂy%a‘?é

fegrg : 3

L. HS 1 : Aeet & w939 ug
AUmTEt

2 ﬂsz:mmﬁﬁﬁg
it FE=t @ WUz mEt wEdet
959 U StHI®ST

3. W3 3:fan d9 o feu Sudt ot
USS Hgedt It Aever @
939 U9 Yeus

4. H3 4 : AR yEs ggzel o
939 U9 WAEIR JISHIBIT

83 oo faozT He At 3 ¢

(a) JTH 1 M3 4

(b) =B 2 ™3 3

() d=®1,3mM3 4

(d) 8a3 A9

fovs feg Jedt Aoa9 ®et 39 a9
THES Ynist IrteT ¥ /3 faas 05 9
fefoem Yyt grtet
AUSean SR

RIS niefantt (PSUs) 3 yrus
IEEIEES

4. AT gomer f€3 F9w 3 ynm
fenm

(a) o< 3 N3 4
(b) o= 3
(c) A=H 2,3 n3 4
(d) Ba3 A9
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53.

Paper |

g& (CPD
Consider the following statements with | 53 393 fog wyuzgg M3 2 . gt
respect to Consumer Price Index and "I JeRm shig HO (WP
Wholesale Price Index in India : fors s 3
= ’ B‘ﬁ
1. The WPI is calculated for only 1. sEfggtnret. a=0 .g = -
goods and CPI is calculated for Hfenmaifas 3" e =
both goods and services. Hat wret. =As ES HE e
e e |
2. The WPI is published by the BET sifennaufis 7 o
Office of the Economic Advisor in 2. Bafegaftnret. @ o3 €
the Ministry of Commerce and HEgmy & 2 mrafEd ”EE_ X
Industry while the CPI is Te39 =% yaHs CEUGICH
published by the Central o fy FﬁLETWf"?ﬁ edr Zcel
Statistical Office. : 355‘ qa-rﬁ:ra'
JE&T Te3gd (CSO)
3. The WPLis published on a weekly 3T AeT T
basis for primary articles and fuel 3. sEfsRaftnmet. Y AT Y13
and power and is published w3 G ®E! ge3r=dt
monthly for the rest of the items, 3 =ﬁ ST HeT I m3
whereas the CPI is released on a L all =t HterETat
monthly basis. Bz N
Y3 dor 3 7 fx AtaftorEt.
4. The WPI measures inflation in Hdtererat At o=t 7ieT O |
the initial st f th 1
he.ml: i agtf (:JPI S 4.  EfsgAtorst. RumEt Bt Er
chain whereas the measures
a - - ﬁl‘\ ﬁ Et"
inflation in the later stages of the 2 s 3
supply chain. 3w fx Aad
B wE Dot fugshet
Which among the above given wERERT & Hidarst $ fieer
statements are correct ? 3
(a) Only1,2and3 B3 feu foozr aus 7 S ¢
(b) Only 1,3 and 4 (&) (o5 1,208
(b) d=H 1,3 3 4
(¢) Only1l,2and4
4 () ATH 1,2 M3 4
(d) All of the above @ 83 A
(A-30)

|
."J :
Scanned with CamScanner



54.

55.

Paper |

Conn‘nlSSIOH for Ag‘l‘iculture Costs

and Prices (CACP) submits its 2=

recommendation for MSPs of

a +cultural commodities in form of

price Policy Reports.

Consider the following statements :

1. CACP is a statutory body formed
under Agriculture Price
Commission Act, 1962.

9. Currently MSP is devoid of any
legal  backing  except for
Sugarcane to some extent.

3. Before submitting Price Policy
Report for any crop, CACP also
analyses demand and supply and
the implications of MSP on
consumers of that product along
with the costs of production.

Which among the following statements

is/are incorrect ?

(a) Only 1

(b) Only1land3

(¢) Only1,2and3

(d) None of the above

Some suggest that India needs to

move to an escrow-based payment

mechanism to ensure a fearless | 55.

business environment in the country.

Which of the following correctly

describes an escrow account ?

(a) A third-party bank account for
safeguarding the buyer from the
risk of seller defaulting on the
quality of goods and services.

(b) A bank account wused by
individuals/firms for routing the
funds through tax havens for the
purpose of tax evasion.

(¢) A third-party bank account for
safeguarding the seller from the
risk of the buyer defaulting on
the payment to the seller after
having received the goods and/or
services.

(d) None of the above

(A-31)

afiAs) (et astast et
E@Wwﬁﬁﬁ@ﬁﬁaﬂvﬁﬁé’r
fouge ¥ U feg smer J |
fﬁ:—(??a(a?a‘f?jil?:elé;

1. MEMAE., e s
IHAE e, 1962 3foz fex
TBal AAET T |

9. fem AN WARA. I3 dT 3
i3 & 88 o fan yxs T Twar
FHIEs T &gz T | 5

3 fxu &t F® T U3 Bt fouse
T seeTeE 3 ufosl, WL.EHIAR.
gzue T FTAET ¥ ITH ITH
gzue o Hal »M3 AUSE 3
MEIT 3 MHMAL. € yg=r &
fep@re & q9e J |

foaT 586 IB3 I/I6 7

(a) oO<® 1

(b) JA=H 1 M3 3

¢ =B 1,233

@) Gas fes at & &It

35 3 mofeny O fa @7 feu f633

gy H9® SI8s  ®E BRI

(Escrow) worfas  nieTfeEdit 339 TH

=us o #9993 3 | fors fed foa=r

(b) fewaa=/eant @ a9 3

| U BT =93 778 T U3T |
(c) ydtewS TFEInF nE¥MAT AL
yuzs 96 Quds feadst 3

) B3 feg gt &t &dt
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56. The Mineral Laws (Amendment) Bill,

57.

Paper |

2020 has recently been passed.

Consider the following regarding the
same :

1. With the Introduction of this Bill.

companies which do not have any
pPrior coal mining experience in

Indiz.i can also participate in the
auction of coal blocks.

2.  Private Companies will now be
able to undertake coal mining for
commercial  mining purposes,
thereby ending the captive
end-use criteria.

3. A composite license namely
Prospecting Licence-Cum-Mining
Lease has been introduced in the
Bill.

4. The

révenue sharing model

detailed in the Bill is based on
recommendations of ap expert
committee headed by
Srinivas.

Which of the above are true ?

(a) Only2and 3

(b) Only1and3

(¢) Only1,2and3

(d) Only 2,3 and 4

Injeti

Consider the following pairings of the
names of Government initiated portals

and the area/industry with which they
are associated :

1. Sambandh : MSME

2. Prakash Portal : Coal Industry

3. Government e-Marketplace : For
procurement of goods by the
Government

4. E-Nam portal : Agriculture

Which out of the above are correctly

paired ?

(a) Only 3 and 4

(b) Only 2, 3 and 4

(¢) Only1,3and4

(d) All of the above

56.

57.

(A-32)

s ads A o, 2020

R digr fpr 3 | fER 9

fegs :

1. feg fim nge &, 89
<t faagtnrt ufos IO

TN ST F9s mEr
4. E-oH TISH : g
83 fod fooar e At 3 ¢
(a) =B 3 NI 4
(b) IA=H 2,3 M3 4
(¢) A=TH1,3n3 4
@ Ga3 g

4
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58. Consider the following statements with

respect to the Export Preparedness
Index, 2020 :

1

It was published by the NITI
Aayog 1n partnership with the

Institute of Competitiveness.

It examines the export ecosystem
of Indian States

Territories.

and Union

Policy, Business Ecosystem,
Export Ecosystem and Export

Performance are the four pillars

of the Export Preparedness
Index.
Gujarat  emerged as the

in the
‘Coastal States’ category, followed

top performing State

by Kerala and Tamil Nadu.

In the category of ‘Landlocked
States’, Madhya Pradesh is the
best performing State. Among
‘City-
States’, Himachal Pradesh and
Delhi are the top performing

‘Himalayan States’ and

States respectively.

Which of the above statements are

true ?

(a)
(b)
(c)

(d)
Paper |

Only 1, 2 and 3
Only 2, 4 and 5

Only 2, 3 and 4

Only1,4and5
A

Il

(a)
(b)
(c)
(d)

33)

58. fsau=s =t HIS
YIm@saR f¥3am), 2020 HEdt fars
FEst § feurg .

(MIAUGS

fom & &t wrtrar 3 yHicEsT @

HHAHT (Institute of
Competitiveness) =TI IE=H
3% USTTHS a3t A |

feg 393 IHAT W3 €I ATAS
yept ¥ foous feafAmen =
fodiys a9 I |

3=, =ug fedfAreH, foaus

yTH 83 yTIons % yeH J |
foH-g7" w3 ‘mfodt-gAT fog
foes yen w3 &8 e
831 yTons @@ IH I8 |

833 feg fagzr At @ ¢

ATH 1,2 M3 3
AT 2,4 M3 5
A= 2,3 S 4
ATH 1,4 M3 5
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59. According to

60.

Paper |

the World Bank’s
classification of economies into income
groups (on the basis of GNI per capita
using the Atlas method exchange
rates) for the 2020 — 2021 fiscal year,
India falls in which of the four incomes
groups described below ?

(a) Low Income Country
(b) Lower-Middle Income Country
(¢) Upper-Middle Income Country

(d) High Income Country

Consider the following products :
1. Phulkari

2. Katarni Rice

3.  Sirsi Supari

4. Chanderi

As of the
Geographical Indicator (GI) tag for
which of the above products ?

now, Punjab has

(a) Only1
(b) Only1and 2
(¢c) Onlyl,2and4

(d) Only1and3

60.

(A-34)

2020 — 2021 fest W ’

TIH® grd NTHES <dd fes

feg nr@er I

a) e nHEs ©F
Country)

(b) ule—fegard niHES ©F

(Lower-Middle Incomeé Cou

(c) Eu-feadd MHES ©H
(Upper-Middle Income Country)

gg3 fan

(Low Income

ntry)

d) Zu wmHes ©F (High Income

Country)
fars 83uet § fewd ¢
1. @IS
2. dCIB IRH
3. THIHT AUt
4. gt

FaMEX Hazd (ot 27 S 3 9

(a) o= 1

(b) O=H 103 2
(c) ATB 1,23 4
(d d=B 133
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61.

62.

Paper |

b

Mesothelioma 18 a malignant
that is caused by

tumoyy
1. Cadmium

9. Arsenic

3. Asbestos

4. Lead

Select the correct answer using the
code given below :

(a) Only 2
(b) Only 1 and 4
(¢) Only 2 and 3

(d) Only3

Three-way catalytic ‘converter is used

in vehicles to reduce

1.  Unburnt Hydrocarbon
2.  Carbon Monoxide

3.  Nitric Oxide

4.  Sulphur dioxide

Select the correct answer using the
code given below :

(@) Only1,2, and 3
(b) Only 1, 3 and 4
(¢) Only2, 3and4

(d) Only 3 and 4

61.

62,

(A-35)

LA ;
1. ISy

2. wiaRfsy

3. WHYReR

4. 3F

(a) oq=H 2

(b) ITB1 I 4
() JA=HB2m3 3

(d) =% 3
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63. Statel‘nents about Terrestrial laser | 63. a3 Bg FATEd 7
Scanning are given helow : e Ja ! L J 7
- T F
l. Tt is g measurement technique 1. feg fgg HUES & IR
tl?at €an acquire millimeter-level WHUTH € 833 © Wﬁ
of detaj] from the surrounding &mmaﬂ i
area. = =r Adal ¥
92 Tt HIIUIA
2. It allowg rapid, automatic and f‘é‘U 1{%3"—1:53 CEIL
periodical egt; Tz ¥ B
- Ical  estimates of many ¥ ot W@'\_ﬂ Cll
Important forest inventory = gty e TS
attributes, 3. feg mrum fs Ut (331 T 2
3 It measures the surrounding et 3 | e
three-dimensional (3D) space. 4. feg Quafa 3 m™ EE 3 ?1
4 It is a satellite-based technique 7 €fgs AesSs A 2
that ensures precise standard 8T T |
surveys. :

Which of the above given statements

are true ? (@ 1,293 3
(@) 1,2and3 (b) 1,33 4
(b) 1,3 and 4 () 2,33 4
() 2,3and4 d) 1,203 4
(d 1,2and4

64. Read the following and choose the
correct statement(s) :

1. The Pacific nation of Palau FINH” FEHatst 3 55 3
became the first country to ban ¥
“Coral reef-toxic” sunscreens.
2. gg3nr AGHISTST feg
2. Chemicals like oxybenzone and - e Eaye
octinoxate that are present in e :)r%’ n’HHZ"]??ra]ﬁ'g
most of the sunscreens, absorb E)T-FEE HEE J¢ 05 § g.%"f.
UV light and are thus harmful to forget ¢ "SHA'3 JJX 9% Bt
the Corals. m?ﬂa'aa gsT T |
Choose the correct option : Adt feomu g2 :
(a) Only1 (a) OB 1
(b) Only 2 (b) o=H 2
(c) Both 1 and 2 (€ 1nmM3 2T
(d) Neither 1 nor 2 d d1M3F 2
Paper | (A-36)

y
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65. Read the fOllOWlIlg and Chogse the

66.

67.

Paper |

correct statement(s) : SPe

Statement I :

The Himachal Pradesh State
Government is to develop India’s
first Snow Leopard Conservation
Centre of India. The Centre is to be
developed by the Himachal
Pradesh Forest Department and
the United Nations Development
Programme (UNDP).

Statement 11 :

Global Snow  Leopard and
Ecosystem Protection Programme
(GSLEP) is an inter-governmental
alliance of all 12 snow leopard
range countries.

Choose the correct option :

(a) Both statements I and II are
correct

(b) Statement I is correct

(e¢) Statement II is correct

(d) None of the above 66

The symbol of Indian ecomark is

(a) Earthen pitcher

(b) Straw basket

(c) Earthen lamp

(d) Bamboo pot

Which among the following statements oz

is/are correct about the Palas?

1. The Palas were ardent followers
of Jainism.

9. The Palas founded the
Oddantapuri University from
where the missionaries went to
Tibet to spread Jainism.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

(A-37)

pral i

G5 [
foes Wy Aeag 393 T
ufas #E feBuas  (Snow

Leopard)am'aé'g%ﬁ'—d‘q’]%‘a(fﬂ?
394t | feg aeq fores yeH ©
T fesmr w2 gofees 306
fsRmuie e (gadstat)
g feafAs &3 Aear |

oagqa Il :
I%e®% FHe fsuss m3 fex
(FAmEMBSEA) A9 12 A8
f#Quds (Snow Leopard) 91 ©H'
€ nf3g-AIST A5 T |

At feamu T2 :

(a) oEs I3 II €< Al I6

(b) FEE I AT T

(¢) oE&s II AJT T

d) €3 feg a=t &t &dt

grast feaHew v ySia T ¢

(a) fHSt T w3T (Earthen pitcher)
(b) @A T 29t (Straw basket)
(¢) fHet & €= (Barthen lamp)
(d) ¥ € IH (Bamboo pot)

fors feg" um Ifemit 99 foaoz IEs

Adt 3/05 ?

1. U® IH 16 H3 € AU niguret
aroll

9. u® gfinr 3 G33ydt
ferefefer®w @ JIgaT A=t
fag fHAsdt 78 H3 © 2% &=t
393 Ix aE |

fors a3t § TI3fent AT 839 &

(a) =B 1

(b) TA=H 2

() 173 238

(d B 10332

e
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68. Which among the following
statements(s) is/are true about the
Mughal rule under Akbar ?

1. Akbar opened the Ibadat Khana
to people of al] religions; Sufis,
Shias, Christians, Jains and
atheists,

Akbar issued the Mahzar-nama

to take all religious matters in his
own hands.

Select the correc
code given below -
(@) Only 1
(b) Only 2
(¢) Both1 and 2

t answer using the

(d) Neither 1 nor 2
69. In the Indian Freedom Struggle, who
among the following revolutionaries
carried out their activities from
abroad ?
1. Raja Mahendra Pratap
2. Maulana Barkatullah
3. Lala Hardayal
Select the correct answer using the
code given below -
(a) Only 1 and 2
(b) Only 2 and 3
(c) Only3
(d 1,2and3
70. Which of the following initiatives
was/were taken by Sher Shah Suri to
promote trade and commerce ?
1. Introduction of gold, silver and
copper coins of uniform standard.
2.  Restoration of the Grand Trunk
Road.
3.  Simplified the custom duty
structure.
Select the correct answer using the
code given below :
(a) Only1
(b) Only 2
(¢) Only1and?2
(d) 1,2and3
Paper |

68. niIYg T WUE HIS®

69.

70.

(FA-138")

s € R W |

fovs et g foraa AT /30 ! o

1. W%WWF@;?;%
wegtgedt sat wet BT |

2. mm%w%mﬁmig
W Jg fog B ST HITT AT
Arat 3T | ol T

(a) =& 1

(b) = 2

() 1m3 2T

(d) 3133 2

I et @ Fuon few fors
et few fam & fedm 3wyt

ISteting ggrert 9
L J¥ HIEd Y3y
2. N 59938%
3. T® I3fers
(a) =% 1 M3 2

(b) OB 2 w3 3

(c) o= 3

(d) 1,2n3 3

ﬁHH‘UEHT%mm%E'Eﬁﬁsﬁa’T
e fors fog fags 7
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71. Sangam textg S-L_l.égest several stages

of -800131 evolution of Tami people. In

this context congjder the following

statements :

1. The narrative texts show that
Tamil people of the times were
primarily pastoral.

2. No reference to trade and
economic activities has been
made in these texts.

Which of the statements given above

is/are not correct ?

(a) Only1

(b) Only 2

(¢) Both1and?2

(d) Neither 1 nor 2

72, Which of the following was/were found
in Mohenjodaro ?

1. Bronze Image of a dancing girl

2. Steatite image of a bearded man

3. Terracotta figurine of Mother
Goddess

Select the correct answer using the

code given below :

(a) Only 1

(b) Only 2

(¢) Only1land3

(d 1,2and3

Paper |

72.

({A=39)

39 3 U USH 3 Ao |

2. feat Jusel few =uyg w3
niafga afsfedinft = =t gemr
&dt fH®er |

Ba3 feg' foozr ows Rt &t /as 2

(a) JA=HB 1

(b) A= 2

() 1m32ex

(d 3 1M3 a2

HdreTs feg fons feg' o fenr m ¢

1. &3 T9et It & fiss
(Bronze)E"T};lHB'

2. TS TH wedt @ miefee
(Steatite) HIZ

3. 2JAeT (Terracotta) Tt M ot ot
Hd3

(a) dA=H 1

(b) dA=TH 2

(c) o=®B1m3 3
(d) 1,273 3
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73. With reference to the medieval history
of India, the terms ‘Dahsala’, ‘Batai’
and ‘Nasagq’ are related to

(a) branding of horses with imperial

marks by Samudragupta

(b) rituals

coronation of a new Gupta king

conducted during

(¢) land revenue systems during
Tughlaq dynasty

(d) land revenue systems during
Akbar’s reign

74. Consider the following statements

regarding the administration under

Chola Empire : 74.

1. The Ur and Sabha were village
assemblies mentioned under
Chola inscriptions.

2. The village affairs were managed
by executive committees which
were open for all.

3. The Dravida style Brihadisvara
Temple at Tanjore was built by
Rajendra I.

Which of the statements given above

is/are correct ?

(a) Only1l

(b) Only1and 3

(c) Only2

(d) Only1,2and3

(A-40)

Paper |

i \

(a) WWWQ@E
Frdt frst € SAE

b) # qusr I T I 5o AN =
ddH d'd

(© Zamx d§ T AR 96 THI6 ©
s T YHy

3. G‘ﬁ?ﬁl%%é‘gﬁaf@g

U gz
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75. Whlch of the fol

; : lowing statements 75, Tod&9g A®363 g9 f6He faa3d™ dHo
is/aré Dot  corpect about the : 3 ;
Vijayanagara kingdom ? Rdt &t 3/ ?
s -\ At 3 TIH 2 ES
1. Th?j‘ Vijayanagara kings 1 e ©
maintained complete separation YATAS efaimis ydo IIREC
between religion and £ g9ag I |
administration. =
YMTHES A3 AHIS BAl'S
2. Land revenue was the main A i W
source of income. A
3. Administration of the villages 3. fUs ¥ ygms fegmzt wnienat
was  carried  out  through enTaT ISTET HieT ’ |
hereditary officers. . \_
foHs a3t 3 TI3fent ATt 839 9
Select the correct answer using the =,
code given below : (a) o=*H 1 M3 2
(a) Only1land2 (b) ATHB 1
(b) Only1 © o523 3
(¢) Only2and3
d 1,273 3
(d 1,2and 3
76. With reference to the | 76. Gfodi-¥zTadt ge=t 59 fors sEat
Udaigiri-Khandagiri caves, which of fe5 fagz ATt /g5 2
the following statements is/are
correct ? 1. f&g Va9 de e ususr
1. They are examples of the rock-cut ST SE_;- S
cave tradition. 2. feu ge=t woRwm St S
2. These caves have inscriptions of HEET Tnft Beragst I8 |
Kharavela kings. ) 3 Y
e 3. feU ge=t wyw F9a ot A3t @
3. The caves were primarily meant —
for Buddhist monks. Houl
Select the correct answer using the fons st $ I93fentt ATt €39 g7 -
code given below : (a) A=W 2
(
(: Dol 2 (b) I=H1m3 3
Only 1 and 3
(c) A= 1n3
(¢) Only 1 and 2 :
@ 1,2and3 d 1,2n3 3
Paper | ({A=415)
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S #15 7aR
77. What important influence did John | 77. #J5 &, 95 © H?’?ﬂ“:a@ ~

] HAZ<CH 2
Locke, Baron de Montesquieu, gH 03 IWend T U -
Jean-Jacques Rousseau and Voltaire forgzT HIzerdl U< At 2 = fog
have on the United States ? g waut A5 A qT:‘ﬂ'
(a) -FEU > = W é‘
(@) They were Europeans who came nigemt  fedu
to help the Americans fight the AgfesT ®et e A |
British in the Revolution. T fg3x 7
| 4 (b feo €7 gt .
(b) They were European political frat & i3t T AN wiHaTal a3
thinkers who influenced the id.eas 3 é@_@r & ygrfes oi3" |
of American leaders at the time B 3 st et uAT
of the Revolution. R F‘:mmu niIHITT
(¢) They were Europeans whose & 1800 < At gt
@ ‘-.ﬁ : ﬁ. AL - T I
inventions sparked the American < 2 <
Industrial Revolution around d) feg €9 W eIHiG HG ﬁ:
1800. nEE @ MwEeH € 493 3
(d) They were European a9 95 e BTHA HEdHG <]
philosophers who met with W& |
Thomas Jefferson to draft the
Declaration of Independence. 78. AfIHaT dHSIT € &3T 17 FI_E"E'E'| 3
2 PAA3 1945 3T USHSH JBSIH

78. From July 17 to August 2, 1945,
leaders from the Allied nations met at
the Potsdam Conference to decide the
sanctions to be put in place against the

%Hg%m%wﬁﬂmﬁﬁé‘%afwég
¥ SH® HEdt B® | awedn 095 IS

recently defeated Nazi Germany. I 3
During the conference, the decision (@) 3% forfos Qe yge-fere
was made that certain industries in WU 1 ¥ uug 3 fenfie qrsgr |
Germany would be (b) T3 forfez Betiar 683 I feg
(a) brought back to their pre-World T IS Trgr gy =T
War I levels. AT |
(b) governed by the forces occupying (c) YU & Haea S ¥3Y ggm it
the country. 33 ferfos et Sl e
(c) disabled in order to destroy AT |
potential for war. d o & Je HS Igs 3
(d) revitalized because the war had LI SEer T =g
damaged them. AXSE9s i3 Arear | -
Paper | (A-42)
o T T T U Ak ek e P L S ST T T
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79. Match the following :

79.
List I List IT
(Personalities) (Misls)
A. Jai Singh [.  Nishanwalia
B. Hira Singh II. Kanhaya
C. Dasaundha Singh III. Nakkaj
D. Naud Singh IV. Sukerchakia
A B C D
(a) I I1I 1 IAY
(b) 1 IT 111 v
) IV I11 IT I
(d) II I IV I1T
80. Maharaja Ranjit Singh gave grants to
the following religious places : 80
(a) Harmandir Sahib, Amritsar
(b) Sachkhand Huzoor Sahib,
Nanded
(¢) Vishvanath Temple, Benaras
(d) All of the above

81.

15

Select the correct answer using the
code given below :

(a)
(b)
(c)
(d)

Paper |

..

Consider the following statements and
choose the correct one(s).

As per 2011 census, the percentage | 81.

of agricultural labourers constitute
more than 30% of total workers in
the State of Punjab.

In 2019, Punjab had nearly
25 lakh hectares under Basmati
which is less water consuming than
other varieties of paddy.

Only 1

Only 2

Both 1 and 2
Neither 1 nor 2

(A-43)

fors 3 i@ .
Ho 1 FoT I
(HYHHIT) (RS
A 7 fRw 1. forseSmr
B. difgr fAw I Isash
C. @rT fRw 1. a3=t
D. 33U fRw IV. IS0
A B C D
(a) II 111 I 1\Y
(b) I 11 111 v
(c) IV 11T 11 1
(d) 1II I IV 11T

HI9HT ez fRw 3 fovs gafux
(a) ofifes mrfow, »ifizre

(b) FOYS Jg9 Frfow, &3

(c) femeam ¥feq, gsa9r

@ €a3 A9

mmﬁﬁwm%m’ra%-

1.2011 & HIEHEHSt nsET,
Qﬁwﬁmﬁw%aﬁaﬁw

1%?30%3‘@@35*3|
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82. Match the following pairs :

State Dams and
Reservoirs
1. Madhya — Sriram Sagar
Pradesh Reservoir
2. Andhra — Bargi Dam
Pradesh
3. Tamil Nadu — Sholayar
Reservoir

Which of the pairs
Correctly matched ?

given above are

3y 03
2. nfflugr yen _ gradt 3H
3. 3HEsY -WE

853 et i forgar HI HOE I 7

(a) aATH 1

(a) Only 1
B Ouiz (b) =S 2
(©) Only3 (c) do=® 3
G d 1,233

83. Consider the following ~statements | 83- &% WE ¥9 farHs Jgat s feer
about Thal Ghat : 1. fer g amer we & foor #er
1. Itis also called Kasara Ghat. 3
2. Ttis located in Maikal Hills. 2. feg Wa® uorst few AfEZ T |
3. Bhusawal-Kalyan railway line 3. gAT®-IEmE I Hfes R

traverses through it. 5 feet dwet I |

arWhel;:rr(;i tI:;le statements given above 8T Wi sEs o foraar At 3 9
(a) Only1and2 (@) e 1n3 2
(b) Only 2 and 3 DSiEsioas
(¢) Only1and3 G e=s 13)@ 3
(d 1,2and3 AN L2 S

84. Which among the following is a | 84 &6’ o8 foogr w@ifteey 33
Glaciatic Wetland ? (Glaciatic Wetland) T 7
(a) Nilnag in Kashmir (a) THHIT feT Stwamr
(b) Chandertal in Himachal Pradesh b) oS y=n fog Segsm
(¢) Rudrasagar in Tripura (© fyofem CELIGIG)
(d) Loktak in Manipur d) HBhT feu F=x

paper | (A-44)
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g5. Choose the correct statement(s) >
Statement I :

Wild water buffalo ig m

found in N orth.
Central Indjs Eastern

ajorly
and

Statement IT :

The Indian landsca
more than 85¢
buffalo populati

pe is home to
of the Wild water
on.

Choose the correct option -
(a) OnlylI

(b) OnlyII

(¢) BothIandII

(d) Neither I nor IT

86. Choose the correct statement(s) :

Statement I :

Corals are an endangered marine
species and protected wunder
Schedule I of Wildlife Protection
Act, 1972.

Statement II :

Rhizangiidae, Caryophylliidae
and Dendrophylliidae are the
names of Coral families, recently
in news as the Maharashtra
government gave permission to
translocate some coral colonies in
order to build a coastal road to
ease traffic congestion.

Choose the correct option :

(a) OnlyI

(b) Only II

(¢) BothIandII

@ Neither I nor II

Paper |

(A-45)

85. 'F]Zﬂ'arg?gég-g

FGE] -
eSS Tey g3 (urd < Aot
Te®) fmmerss Gzgymdt w3
JTdT 3793 feu it I |

ag& 11 :
393t gfem AAg & 8% I =g
TESs T2 5B (U T Hakt
%) T AR = ug I |

Adt feamy gz -

(a) ATHB I

(b) o=HII

() In3IIex

d &In3 I

86.

() IM3 I
(d)




87.

88.

Paper |

The COVID-19 pandemic has exposed
the vulnerability and plight of sex
workers across the world.

Which among the following statements
are true about the recent advisory
related to gex workers issued by
NHRC (National Human Rights
Commissionj ?

Statement [ -

NHRC advised to change the
current statutory status of sex
workers from ‘informal workers’
to ‘Women at work’.

Statement IT -

The advisory says that such
workers may be provided benefits
on humanitarian grounds that
are entitled to informal workers.

Choose the correct option :

(@) OnlyI

(b) OnlyII

(¢) BothIandII

(d) Neither I nor II

Choose the incorrect statements :

1. The Mediterranean lands account
for more than half of the world’s
exports of citrus fruits.

2. The Olive tree, native to the
Mediterranean region is a very
soil sensitive tree and thrives
only in well drained earth.

3. France leads the world trade in
fresh grapes with more than 90%
share.

4. Cork Oaks are typical species of
Mediterranean Evergreen forests.

Choose from the code given below :
(a) Only2

(b) Only1and 2

(c) Only2and3

(d 1,2,3and4

87.

% HaezT @ g 3 BIsT ST 3
Wt FgeTEnT 7T AAET J R
JgTRHt aH BE Tl IS |

At feamy g2

(a) oS 1

(b) o=®II

(¢c) In3 Il e

(d) I3 EII

88. B3I FEST § TS

(A-46)

1. Htcdamis mitst fReer (R)
g% T AR feg Jder wfg 3 2
fsaus Fae ow |

3. 3 »iget ¥ fere U feg 90%
Haat T |
4 9 &I NteIEois meme

= €t <fire yrst ¥ |
(a) o=H 2
(b) aATH 13 2
(c) IATH®2 NI 3
(d 1,2,3n34
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g9, Choose the correct statements -

1. The gentle slope of

contin
shelves Foeal

of Grand Bankg
f
Newfoundland ig one of t}(:e

reasons for it to eme

the largest fishing gro
world.

T8¢ among
unds of the

9. Both pelagic and demersa] fish
are caught commercially here.

3. Cod is the chief fish caught in the
Grand Banks.

4. St. John’s, Halifax and Yarmouth

are chief ports of Newfoundland
from where the fish is exported,

Choose the correct option :
(a) Only1l

(b) Only 1and3

(¢) Onlyl,2and3

(d 1,2,3and 4

Choose the incorrect statement :

1. Sea of Galilee is an example of

lava blocked lake in the Jordan
Valley.

2. The Tafilalet Oasis in Libya is
surrounded by a wall to keep out

the dust storms, locally called as
simooms. '

- Choose from the code given below :
(a) Only1

(b) Only 2

(¢) Bothland2 -
(d) Neither 1 nor 2

Paper | (A

89. m’"raa?;r?:;gg
L 58 =835 v o33 oy &
ABETEES e W gmdt wwmE
for ¢ foe ¢ ws 3 & wy
&35 T3 fewfant fog Qg
fex g5 ¥ |

2. Ui M3 Fhigrs 1 cusx

JW3IfemeHaan y

o fed Qegas T 1
(Oasis) fHet =

(a) dq=H 1

(b) A= 2 :

(c) 1”1%2@% S

=147

@) FlnEiao R S




91.

92.

Paper |

Consider the following statements :

1 The Medical Termination of
Pl'egnancy (Amendment) Bill
2020 seeks to amend The Medical
Termination of Pregnancy Act,
1971,

2. The Bj sets up State level
Medical Boards to decide if a
Pregnancy may be terminated
after 24 weeks in case of
substantial foetal abnormalities.

3.  The Bill specifies that survivors
of rape, victims of incest and
other vulnerable women like
differently abled women and
minors will now be able to opt for
abortion up to 28 weeks on the
advice of two doctors.

Choose the correct statement(s) :

(a) Only1

(b) Only1and?2

(¢) Only1ands

(d) Only1,2and3

Consider the following statements :

1. Odisha recently launched “Drink
from the tap Mission-Sujal” to
ensure the supply of quality
drinking water to the people.

2. Odisha achieved the target of
100 percent  household water
supply connections in 2020).

Choose the correct statement(s) :

(a) Only1

(b) Only 2

(¢c) Both 1and2

(d) Neither 1 nor2

7o) fes 2020,

ZoHBHG MTe a
%, : |

1971 €t AU IJ&" TLE"

WHTOIEE IS yIH 3T
7 &t @ foae addr |

fa®w AT J X TH3AT
T tz=t, s@er w2 99 THES
2991 it Hfgwet gE 28 Tef3nft
3d ¢ Boed’ © HASI I
98 Y3IH 95 T IIQ I
AT |

Adt Est § 9T

(a)
(b)
(c)
(d)

A= 1
d<® 1 n3 2
aT® 1 M3 3
ATH 1,2 M3 3

92. fous FEst § fegrg -

L & 3 a5 & v < fo3
iE T firs-me 4 Sa wet
éﬁflﬂ'&%@ﬁﬁwg
woltet HE8E wEt wt g |

2. G 3 2020 fem 1009 yFims
UIG U T AusE ¥ gianst
T Ty &g Y |

(a) =B 1

(b) = 2

(€) 173 2ed

d) & 193 3 2

(A-48)
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93. Whi(.:h Articl(.e of the Constitution
provides that it shall be the endeavor
of cyery, St'ate to provide adequate
facility for instruction in the mother
tongue at the primary stage of
education to children belonging to
linguistic minority groups ?

(a) Article 349

(b) Article 350

(c) Article 350 A

(d) Article 361 A

94. Choose the incorrect statement among
the following :

1. The Hausa are a primarily
pastoral tribe of Nigeria for
whom cattle is a symbol of
wealth.

2. The Bindibu of Australia are
primitive hunters and prefer to
stay near the source of water.

(a) Only1

(b) Only 2

(¢) Both 1 and 2

(d) Neither 1 nor 2

95. As part of ‘Vaccine Maitri’ policy which
of the following countries became
first recipients of the Made-in-India
COVID-19 vaccine.

(a) Nepal and Bhutan

(b) Nepal and Maldives

(c) Bhutan and Maldives

(d) Bangladesh and Bhutan

Paper |

95.

(A-49)

94.

le

a5 9™ @ feg afim T

(a) WBET 349

(b) WIET 350

(¢) WMde<T 350 %

(d) nEe€ 361 T

fors feg' I3 986 T2

1. JF (Hausa) &TfEHISIT € HY
39 3 ug U IS J H Uit
zjuﬁ%qaﬁae—;rﬁeﬂwﬁl

9. ety (The Bindibu) nrHES&EMT
T if3 ya3s et 96 »i3 utet
T B3 ¢ 33 Ifoe 3 ufow fee
IS |

(a) o=® 1

(b) A=H2

(¢) 1n3 2T

(d) 3 1mM3 32

feg' faoz en 393 feu =&t afes-19
s © g 3 ufgd YUz 93T 58 ?

(a)
(b)
(c)
(d)

3US 3 ITE
U N3 HSBEr=

TG M3 HBEIE
FIBEH M3 ITE
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96. Recently

feg feg St mi
again  in  controversy, | gg. T® d. feeT \
Jallikattu, is the pull taming froBs o gest S ES ﬂ?ﬂa‘g’, faos

traditiong] sport of which Indian

3 ?
I & yrets 88 J
State ?
: (a) 3ITHBES
(a) Tamil Nadu
(b) Kerala (b)
. o
(¢)  West Bengal e
(d) Karnataka (d)

97. Which among the following nations, | 97. gns. & mg I e feaz ow
owing to its steady economic growth, PES ) T Aga );Itﬂ o
:fr:lﬁs .relcenlt'l_',; gra;lua‘;(’ed f;‘othhe ]UN’:; I R AiY wrofes BaH ares
cia ope
Countries ;SLDCZ) ? i e IS 39 nifenr 3 2
(a) Maldives (@) HEEeH
(b) Samoa (b)  FHmr
(c) Palau © U@
(d) Vanuatu ) =onr3g

98. Which of the following is not a foreign | 98,
bank in India ?

&t T 2
(a) Citi Bank (@) fict ¥y
(b) Standard Chartered Bank (b) F23IS T9eds ¥y
(¢) Federal Bank (c) 3393 T
(d) HSBC (d) TP
Pager (A-50)
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100.

Paper |

€s

in Ind .
per the CRZ Notificatiqp, - - %

1. CRZ-1: Exploration and ext

raction
of natural gag

is Permitteq

selectively.

2. CRZ-2 : Unauthorizeq Structureg

are allowed to be Constructeq ip
this zone.

3. CRZ-4 : Fishing is permitteq in this
Zone.

Choose the correct matches :
(a) Only1and2

(b) Only 2 and 3

(c) Only1and3

(d) Only 2

Which of the following organisms

is/are considered as “Benthos” biotic
community ?

1.  Starfish
2. Beetlés
3. Oysters

Choose the correct answer using the
codes given below :

(@) 1and2
(b) 2and3
(©) 1and3
(d) None of the above

100.

(A-51)

H R mud qee @ fe
é”%%m%ﬁ.m.ﬁs.mfugeﬁ*
TS o R

L Hinrgds .

(8) A=TH 193 2
(b) o=H 23 3
() JATH1m3 3
d) o=®2
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